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Zero Field Runs
Runbpp-200 GeV

Run number Events(M) Duration(min)
[190276) 4.8 19
190277 3.1 11
190280 6.4 24
One fill 190281 1.0 4
190282
190283 3.5 13

7.2 48
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Raw Alpha vs Phi distributions from CNT First Fill Combined
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After slicing in Phi and taking the peak of the Gaussian fit
**Note the scale**

Alpha vs Phi preliminary
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1st Fill combined-7621 as suggested in previous meeting

WEST EAST
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Fill 7621:
With Y offset value inserted in Database

Note the scale
WEST % EAST

dx =-0.028977 +/- 0.005571 dy = 0.002566 +/- 0.002061 shift = 0.000000 +/- 0.000000
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Fill 7641 combined

West Fill 7641 |

dx = 0.287881 +/- 0.006637 dy = 0.206441 +/-0.012742

| dx = -0.046183 +/- 0.011383 dy = 0.189351 +/- 0.004762
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Fill 7641:

With Y offset value inserted

| dx = 0.287542 +/- 0.013054 dy = 0.017125 +/- 0.007908

|

West Arm Fill 7641 Y corrected 1 4% ndf = 31.061886 1 29
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Blpha, rad
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Offsets found in my analysis

XOffset West fill 7621: -0.27 If there is no
reconstruction
XOffset East fill 7621: -0.03 of failed runs

this should still be ok.
Y Offset fill 7621: 0.19

valid: beginRun= 190001 endRun =191228

XOffset West fill 7641: -0.29 cm

XOffset East fill 7621: -0.05 cm

Y Offset fill 7621: 0.198 cm There are still ~ 18

zero field runs that

valid: beginRun= 191229 endRun=206999 have not been produced
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Inserting YOffset as well as both East and west X corrections

note the scale

—

dx = -0.000740 +/- 0.005298 dy = -0.007909 +/- 0.003873 . | dx = -0.050526 +/-0.004534 dy = -0.001720 +/- 0.002563
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‘ dx=-0.011629 +/-0.012932 dy = -0.002926 +/- 0.010090
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| need this correction before | can move on to momentum corrections
as well as matching.

| have started some wiki documentation and tutorial
that shows the general procedure | used, as well as some tips and tricks | found
from people along the way:

https://www.phenix.bnl.gov/IWWW/offline/wikioff/index.php?title=Run06pp: Beam_Shift%2
C_Momentum_and_General Matching

| would like to acknowledge all the help | got from Christine Aidala. Thank You!
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190276

| East | | dx = -0.088470 +i- 0.019305 dy = 0.214830 +/- 0.005335 shift = 0.000000 +/- 0.000000
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| dx = 0.306061 +/- 0.014389 dy = 0.194675 +/- 0.021325 shift = 0.000000 +/- 0.000000
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190277

East | | dx = -0.011587 +/- 0.018353 dy = 0.193694 +/- 0.009284 shift = 0.000000 +/- 0.000000

v i ndf = 7.906920 / 20
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| West

I | dx = 0.305367 +/- 0.009835 dy = 0.230464 +/- 0.020182 shift = 0.000000 +/- 0.000000
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190280

| dx=0.020476 +0.017257 dy = 0.203382 +/- 0.011081 shift = 0.000000 +-0.000000  |[ West | [ dx=0.171967 +-0.001361 dy = 0.214314 +-0.015351 shift = 0.000000 +/- 0.000000
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190281
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dx = 0.267792 +/- 0.010487 dy = 0.190841 +/- 0.021338 shift = 0.000000 +/- 0.000000
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190282
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190283

East | ‘ dx = 0.060497 +/- 0.013514 dy = 0.193676 +/- 0.010862 shift = 0.000000 +/- 0.000000 | West | dx =0.272725 +/- 0.011962 dy = 0.198762 +/- 0.018577 shift = 0.000000 +/- 0.000000
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191229
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dx = 0.268755 +/- 0.009429 dy = 0.188142 +/- 0.016336 shift = 0.000000 +/- 0.000000

| 4%/ ndf=24.789463 / 24
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